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01 At 22l bl 10,696 1,200 A504
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o EBINAAL MYIIBS X (502 ) 6,696 7,200 A504
-S4, 00018 , 5%, 2 [HLEY]
33 6,69,000% 6,696 7,200 A504
202 04t 1,744 1,875 A131
01 S LHOIYI 1,744 1,875 A131
O NYSHB2 NZRRSH[H AT
AH 544,008 544 675 A131
301 BB 5,600 800 4,800
10 BAA I 2 A S 5,600 800 4,800
O AHIRE0F HABME "FRLUEHH"2Y
AHIE4 20,0008 * 208 * 28 * 64 4,800 0 4,800
AW oY HIF 26,575 27,500 £925
201 YEr2 | 24,901 25,700 AT799
01 Ak 22l 24,901 25,700 AT799
O Yur+gY| 24,901 25,700 AT799
o 4ER 29 17,461 17,700 £239
- 4B AN MEY]
A 4,961,000 4,961 6,200 A1,239
- 4B B HSLI 242
A 1,500,0002 1,500 500 1,000
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202 01 bl 2,511 2,700 A 189
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MEY] 2% 1,611,000 1,611 1,800 £ 189
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= 275,738 272,235 3,503
Al 939,608 829,247 110,361
NABEH LR 2IAY 420,702 345,540 75,162
2 175,351 160, 192 15,159
< 37.916 47,913 £9,997
Al 207,435 137,435 70,000
101 2124 Hl 335,765 285,585 50, 180
= 142,793 132,613 10,180
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Al 70,597 70,953 356
o F gx4+g 2 43,740,000 43,740 43,740 0
=2 21,870 20, 120 1,750
= 4,811 6.124 A1,313
Al 17,059 17,496 A 437
o grEsg 233 2,870,0008 2,870 2,870 0
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= 19,695 8,120 1,575
= 4,333 5,515 A1,182
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2 9,225 8,487 738
= 2,029 2,583 £554
Al 7.196 7,380 £~ 184
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A3 2,520,008 2,520 2,520 0
2 1,260 1,159 101
< 277 353 AT6
Al 983 1,008 A25
202 01 bl 3,800 3,800 0
2 1,900 1,748 152
< 418 532 A114
Al 1,482 1,520 £38
01 2ol bl 3,800 3,800 0
O =2 othl 3,800 3,800 0
o EYRH Y HLE S YLE7
23 600,000 600 600 0
=2 300 276 24
= 66 84 A 18
Al 234 240 A6
o g 8-S HINE AS
23 3,200,0002 3,200 3,200 0
=2 1,600 1,472 128
= 352 448 £96
Al 1,248 1,280 ~32
206 T 2 H 30,000 30,000 0
= 15,000 13,800 1,200
= 3,300 4,200 £900
Al 11,700 12,000 £300
01 HEHI 30,000 30,000 0
O M2l 30,000 30,000 0
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23 30,000,000% 30,000 30,000 0
=2 15,000 13,800 1,200
= 3,300 4,200 £900
Al 11,700 12,000 £300
401 A& H LSO 40,107 16,125 23,982
2 10,643 7,418 3,225
= 2,341 2,257 84
Al 27,123 6,450 20,673
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O NABEH XN FR(SYLEY, 2
3BAXY S) 23 21,287,000 21,287 16,125 5,162
= 10,643 7,418 3,225
< 2,341 2,257 84
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= 70,000 25,000 45,000
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O btS71g sSEAME 22X
23 140,000,000 140,000 50,000 90,000
= 70,000 25,000 45,000
< 21,000 7,500 13,500
Al 49,000 17,500 31,500
MIAE DJIY 24 1,575,156 1,573,336 1,820
= 1,236,448 1,236,448 0
=) 82,822 82,822 0
Al 255,886 254,066 1,820
201 et 5,120 5,400 A 280
01 AP 2telH] 5,120 5,400 A 280
O «Bt==&H| 3,720 4,000 A 280
o MIH JIY 4 EE28 ME[MAE2]
&% 3,720,000& 3,720 4,000 A 280
307 21201 A 1,547,660 1,545,560 2,100
= 1,236,448 1,236,448 0
< 82,822 82,822 0
Al 228,390 226,290 2,100
02 plZtE A2 X 1,547,660 1,545,560 2,100
O MBIHIY SS4adES 29|
300,000& = 7IHE 2,100 0 2,100
LRI NASEHE 23 25,228 25,246 A18
201 L Et2A | 246 264 A18
02 232gHl 246 264 A18
O =322 % XA 246 264 A18
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2 & 246,000& 246 264 A18
N & ditel AFY 47,059 0 47,059
= 40,000 0 40,000
Al 7,069 0 7,059
307 21201 & 47,069 0 47,059
= 40,000 0 40,000
Al 7,069 0 7,059
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Al 7,059 0 7,059
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2 190,337 190,337 0
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NEET) 33 865,008 865 1,350 ~485
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=2l 54,802 58,926 ~4,124
e 54,802 58,926 ~4,124
201 et bl 39,595 42,574 ~2,979
01 Ak 22l bl 39,595 42,574 £2,979
O YurgHl SN [HATL]
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202 01t 1,301 2,152 £851
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O XNEZHD[ofaE 2] & & 3,906,000& 3,906 4,200 N 294
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